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 Chapter 04.11

Multiple-Choice Test

Chapter 04.11 
Cholesky and LDLT Decomposition

1. For a given set of simultaneous linear equations
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The Cholesky factorized matrix 
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2. For a given set of simultaneous linear equations
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the forward solution vector 
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3. For a given set of simultaneous linear equations
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The backward solution vector 
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4. The determinant of 
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5. Based on the given matrix 
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7. For a given set of simultaneous linear equations, and using LDLT algorithm,
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8. For a given set of simultaneous linear equations, and using LDLT algorithm,
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9. For a given set of simultaneous linear equations, and using LDLT algorithm,
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10. For a given set of simultaneous linear equations, and using LDLT algorithm,
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11. For a given set of simultaneous linear equations, and using LDLT algorithm,
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